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MPNHM Community Health Officers 02

Topic:- CHO 02

1) The anatomical term for the "breastbone" is
FIol 331 D 1Y Ielca® 95 & -
[Question ID = 208]
. Sacrum
gt [Option ID = 829]
2. Sternum
et [Option ID = 830]
3. Patella
ueen [Option ID = 831]
4. Clavicle
enfdaser [Option ID = 832]

1

Correct Answer :-
e Sternum
g [Option ID = 830]

2) The aim of National Strategic Plan is to eliminate tuberculosis by
IR JWIGHTRD ANST6l BT IS SRIRIGT DI @ FIcA DI &
[Question ID = 209]
. 2025
2025 [Option ID = 833]
2. 2030
2030 [Option ID = 834]
3. 2035
2035 [Option ID = 835]
4. 2040
2040 [Option ID = 836]

1

Correct Answer :-
e 2025
2025 [Option ID = 833]
3) The lowest layer of the atmosphere is
ARIAIvSH I Je foraedt uza 3
[Question ID = 210]
1. Stratosphere

ga¥werz [Option ID = 837]
2. Troposphere

QuBRR [Option ID = 838]
3. Mesosphere

bl [Option ID = 839]
4. lonosphere

JrEIRw:R [Option ID = 840]

Correct Answer :-
e Troposphere

SuRGRE [Option ID = 838]

4) Which is the largest nerve in the body

9RI3 I IR St dfeepr dlat 2t 2
[Question ID = 211]
1. Sciatic
Jmsfemr [Option ID = 841]
2. Peroneal
3faiarer [Option ID = 842]
3. Pudendal
gsoesd [Option ID = 843]
4. Tibial

fefirrer [Option ID = 844]

Correct Answer :-
® Sciatic

amsReat [Option ID = 841]
5) The part of brain which controls body temperature is
ARTSD BT dg et S IR & arusrel ot forifea wear 8
[Question ID = 212]
1. Thalamus
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e [Option ID = 845]
2. Hypothalamus

sruRcERI [Option ID = 846]
3. Pons

dizr [Option ID = 847]
4. Medulla oblongata

drgen sifdisrer [Option D = 848]

Correct Answer :-

e Hypothalamus
rmdcEA [Option ID = 846]

6) Glucocorticoids and mineralocorticoids are secreted by
SCIDIPIEDIZZA 3R RioRelDIfiEDIssa [pad FrRI R 81 3
Question ID = 213]
1. Pancreas
3poat9orI [Option ID = 849]
2. Gonads
Stefetiol [Option ID = 850]
3. Hypothalamus
serer [Option ID = 851]
4. Adrenal glands
afftrqae sjféri [Option ID = 852]

Correct Answer :-

e Adrenal glands
aiférgaa sjfern [Option ID = 852]

7) Substantia nigra secretes which of the following major neurotransmitters
JAcucifey o forroricii¥ad 3 3 @iol AT Y RRI ¢ivdlie i e
[Question ID = 214]
. Adrenalin
wlonferor [Option ID = 853]
2. Dopamine
Swmnset [Option ID = 854]
3. Serotonin
Aot [Option ID = 855]
4. Noradrenalin

sifzeganterer [Option ID = 856]

1

Correct Answer :-
e Dopamine
Swwmset [Option D = 854]

8) The principal cells of the epidermis that produce keratin in a complex process is
uftrsfRi bl g PHIRDIY Sl U Siftel YipRIn 3 @adics! ®I Ieulcel Mkl 3, a6 &
[Question ID = 215]
1. Melanosomes
Jcteiialieat [Option 1D = 857]
2. Keratinocytes
Desiramsear [Option ID = 858]
3. Melanin
FaRior [Option ID = 859]
4. All of these
3 3msft [Option ID = 860]

Correct Answer :-
e Keratinocytes

@fesitamscat [Option ID = 858]

9) The total number of bones found in right upper limb is
cifdol Ul 3is1 3 urs Sirol arcll sf¥swl & gger I &
[Question ID = 216]
1. 25
25 [Option ID = 861]
2. 30
30 [Option ID = 862]
3. 40
40 [Option ID = 863]
4. 60
60 [Option ID = 864]

Correct Answer :-
e 30
30 [Option ID = 862]



10) In following which is a both endocrine and exocrine glads
forgaifeiRaa 3 A b 3 sia: et sz afd:3redt sjfer Sienl &
[Question ID = 217]
1. Pituitary
dlegftret [Option ID = 865]
2. Thyroid
ensdtss [Option D = 866]
3. Pancreas
swoarert [Option ID = 867]
4, Adrenal
aiftrgeres [Option 1D = 868]

Correct Answer :-

® Pancreas
3pen9rI [Option ID = 867]

11) The exchange of gas in the lungs takes place by
BBs] 3 1A b} fRAErRI g6 A 5D grI alar &
[Question ID = 218]
1. Bronchioles
sarsmGiereT [Option 1D = 869]
2. Alveoli
@oftr [Option 1D = 870]
3. Trachea
sarzrercht [Option 1D = 871]
4. Bronchus
sazeft [Option ID = 872]

Correct Answer :-

e Alveoli
gfter [Option 1D = 870]

12) The function of cerumen (wax) is
B ol (H) DI BRI &
[Question ID = 219]
. Protect the ear

el @1 381 @en [Option ID = 873]
2. Help clean ear canal of foreign matter

RiSoft uatef W wIar @ Dotret A ATG B 3 G won [Option D = 874]
3. Protect ear canal from water damage

el @ dotrel B urelt B gifer 31 sraren [Option ID = 875]
4. All of these

J Jsft [Option ID = 876]

1

Correct Answer :-

o All of these
I 21eft [Option ID = 876]

13) The causes of high birth rate in India are all of the following except
R I I STodl g2 D BRUI fogafeRaa st &, Rrarn:

[Question ID = 220]
1. Early marriage
ofty frars [Option ID = 877]
2. Traditional customs and habits
qRuf¥s Afer-Faret s smed [Option ID = 878]
3. High level of literacy
JMeRAr @I 3ea xR [Option ID = 879]
4. Universality of marriage
Rrars &t ardaiifrsar [Option ID = 880]

Correct Answer :-

e High level of literacy
SR DI I FR [Option ID = 879]

14) A pictorial diagram of frequency distribution which consists of a series of blocks is called
g frerzur @1 ARN 3m¥a R3121d seifol B gfzaetn Bl 3, 33 forgor war sirer 3
[Question ID = 221]
1. Line diagram
3z amz [Option ID = 881]
2. Pie chart
o @ [Option ID = 882]
3. Histogram
&3yt [Option 1D = 883]
4. Frequency polygon
Jmgfer agyget [Option ID = 884]
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Correct Answer :-
e Histogram

f&=3eper [Option ID = 883]

15) The increase in urban population is due to all of the following factors except
oredt Sorizn 3 gfs foraifeiRad nft drR®! & PRI 3, Bar
[Question ID = 222]
1. Employment opportunities
IeemR 3R [Option ID = 885]
2. Attraction of better living conditions
YR Sftaer feifer @1 amdor [Option 1D = 886]
3. Availability of social services
s st @ 3ucterar [Option ID = 887]
4. High mortality and morbidity
3ea ey &2 3R Fouren [Option ID = 888]

Correct Answer :-
e High mortality and morbidity
I 9cg 52 3z Fourt [Option ID = 888]

16) The literacy rate taking in account the total population in the denominator is termed as
32 3 el SIOIRITRT P £3ToT 3 WA T ATERAT G2 DI BT Il 3
[Question ID = 223]
1. Effective literacy rate
gl Jmsrer g2 [Option ID = 889]
2. Crude literacy rate
g g <2 [Option ID = 890]
3. Life expectancy rate
Sfiqet geamor g2 [Option ID = 891]
4. None of these
o A DI 8ft ordt [Option ID = 892]

Correct Answer :-

e Crude literacy rate
qraxT MgRer g2 [Option ID = 890]

17) The number of new cases occurring in a defined population in a specified period of time is called
uop forf2aa Jermaf?s 3 af¥snita soriz 3 ol arcl e JeIcl 6 IReT Wl fordor a1 Sirar 8

[Question ID = 224]
1. Prevalence
gz [Option ID = 893]
2. Incidence
aeatl [Option ID = 894]
3. Secondary attack rate
JreafdrD st Bt g2 [Option ID = 895]
4. Point prevalence rate
Rig 9= g2 [Option ID = 896]

Correct Answer :-

e |Incidence
#eat [Option ID = 894]

18) An epidemic usually affecting a large proportion of the population, occurring over a wide geographic area such as a

continent or world is called
O BRI Sl 3 AR UR SORITRI @ a3 23331 @ yenfaa @l 8, Sl e sileliftras &g Sl Ae1giu A1 gforn 3 Biedl 8, 33 foreaT war Sirr 8
[Question ID = 225]
1. Endemic
@i [Option ID = 897]
2. Sporadic
artse [Option ID = 898]
3. Pandemic
G3frs [Option 1D = 899]
4. Exotic
waifess [Option ID = 900]

Correct Answer :-

e Pandemic
G3f3rs [Option ID = 899]

19) The ratio of the incidence of the disease among exposed and the incidence among the non exposed is called
AU & dia Rl &l acotrail 3R 313U @ | Dl el D IIoUld Pl Pal SIdl &
[Question ID = 226]
1. Attributable risk
£TeT 39t 2w Skt [Option 1D = 901]
2. Relative risk
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AMférs Sifaer [Option ID = 902]
3. Population attributable risk

SO @ @RI 3l Ssif¥as [Option D = 903]
4. All of these

¥ Jeft [Option ID = 904]

Correct Answer :-
e Relative risk
fgres St [Option ID = 902]
20) The main purpose of vaccine vial monitor is to
Faficr arra JHifores o I=T 3297 3:
[Question ID = 227]
1. Ensure safe transport
IRM ufsager JiRr o3 [Option ID = 905]
2. Prevent damage of vaccine
Aafter B gJparet @t Awan [Option ID = 906]
3. Ensure heat damaged vaccines are not administered
JfIf B3 5 opft 3 sifERa St @ genfie o1 fsar sem afze [Option 1D = 907]
4. Easy administration
3Rl YomRiel [Option [D = 908]

Correct Answer :-

e Ensure heat damaged vaccines are not administered
Jfoiie @3 {7 sl 3 gifeRa ol @t yonfia o1dt fsen smem enféw [Option ID = 907]
21) The time interval between invasion by an infectious agent and appearance of first sign and symptom of the disease is
called
U ADAG TSIT FRI MGV 3R A0T D Usel Hdd DI Yabe aloll 3112 AT D 10T D did D AR 3icRIcT Bl B3l Sl &
[Question ID = 228]
1. Serial interval
ofdrs siceier [Option 1D = 909]
2. Incubation period
FwmrRe s@fer [Option ID = 910]
3. Latent period
are=eh safer [Option ID = 911]
4. Communicable period
Jfarst srafer [Option ID = 912]

Correct Answer :-

e |Incubation period
SwrRE sm@fer [Option ID = 910]
22) The person, animal, object or substance from which an infectious agent passes or is disseminated to the host is called
a8 cAftp, Sielda?, a3 Al Ucrel SRk AMPIT Bsic ST & a1 Ulitar 3 ganid fovar siren 3, 321 forger war sirdn 3
[Question ID = 229]

1. Reservoir

sisrz [Option ID = 913]
2. Source

A [Option ID =914]
3. Carrier

arsw [Option ID = 915]
4. Latent infection
siafsfiae agmr [Option 1D = 916]

Correct Answer :-

e Source
3t [Option ID = 914]
23) The changes that occur during the second trimester in the fetus are all of the following except
3101 3 g3l el @ <Siaret Slot drel uf¥acdor forgeiiciRae il 3, Rrara
[Question ID = 230]
1. Fetal heart sound can be heard with stethoscope
ICARPIT A 30T D FaI DI 3Iarst oit o Apedt & [Option ID = 917]
2. Skeleton is calcified
wepiet dedtay 2 [Option ID = 918]
3. Eyes remains closed and body growth accelerates
3zt dg et 3 3l otz gfy a1 & St 2 [Option ID = 919]
4. Lightening occurs
crrsefsior 3t  [Option ID = 920]

Correct Answer :-
e Lightening occurs
aisefoier 3rft 3 [Option ID = 920]

24) A woman serum and urine will test positive for HCG in all of the following conditions except



uop Jifden ot A 3z I forrarfeiRae el Rraferil 3 verfish & oo IrRIca® udlsur wwn, Rrarr
[Question ID = 231]
1. Pregnancy
sretfazer [Option ID = 921]
2. Ectopic pregnancy
srzenfera smfazer [Option ID = 922]
3. Vesicular mole
ARerger #ltet [Option ID = 923]
4. Post hysterectomy
Re¥aehst @ uam [Option ID = 924]

Correct Answer :-

e Post hysterectomy
R @ war [Option ID = 924]
25) Transmission of maternal antibodies to the unborn child through the placenta is an example of
sn3folIcT @5 AIEIA A 3sTodl wel A ArY Uit w1 Jarvr f31Fel I IIEvT 3
[Question ID = 232]
1. Active immunity
afg yRreg [Option ID = 925]
2. Passive immunity
forfeayr yferegmr [Option ID = 926]
3. Humoral immunity
3agdl yfeem [Option ID = 927]
4. Herd immunity
&< yferem [Option 1D = 928]

Correct Answer :-

® Passive immunity
forfeaer gferzgm [Option D = 926]

26) Failure of descent of one or both testes at birth in newborn is called
ofcisird 319] 3 STodl @ IR YD AT Sloil JUUIL W 3[AARVI DI faberar waciredl &
[Question ID = 233]
. Phimosis
w3t [Option ID = 929]
2. Hydrocele
ar< [Option ID = 930]
3. Cryptorchidism
sz [Option ID = 931]
4. All of these
& Jsft [Option ID = 932]

1

Correct Answer :-

e Cryptorchidism
fpueripidsa [Option ID = 931]

27) Complications during pregnancy and child birth can be prevented by
sTaIiael 3T I D Slodl D GIRIGI SIecIAIsil ol BFel FRI AT S ADGAT &

[Question ID = 234]
1. Skilled care at birth
SloAl @5 PRI @Il dxamret [Option ID = 933]
2. Early detection of risk
SRt @1 oft uer eemen [Option ID = 934]
3. Appropriate and timely management of obstetric complications
URIfer el Sifeeraraii wr 3R ofie WRr w yderer [Option ID = 935]
4. All of these
3 1sft [Option ID = 936]

Correct Answer :-

e All of these
it [Option ID = 936]

28) White or yellowish white secretions that lasts for 10 to 15 days after delivery is called
AW AT Ulct 30T DI AW P14 Sl goaa @ a6 10 A 15 ol ao wear 3, 3 el SIar 3
[Question ID = 235]
. Lochia rubra
ciiftrm %qq [Option ID = 937]
2. Lochia serosa
eifern 331 [Option ID = 938]
3. Lochia alba
ciifern srear [Option ID = 939]
4. All of these
3 st [Option ID = 940]

1

Correct Answer :-
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e |ochia alba
eifern areen [Option ID = 939]

29) The main components of essential new born care are the following except
JIAQRAD SIS SIAHTCT D I T forgotfeil¥aa 3, Rrara
[Question ID = 236]
1. Resuscitation of new born with hypoxia
BEUIRRI @ eI 83T g8 ol @ Yorsiiaer [Option ID = 941]
2. Prevention of hypothermia
Brsdterffar 6t JAepemr [Option ID = 942]
3. Prevention of infection
It Bt Aepem [Option ID = 943]
4. Prevention of behavioural problems
B JAaeht Fe=msit 6t Awemt [Option ID = 944]

Correct Answer :-

e Prevention of behavioural problems
IR et pr=msi 6t Acem [Option ID = 944]

30) Recommended volume expander for a neonate in shock is
3IGat 3 oTaeld & fo1e sropeiftta Iy fiear® 2
[Question ID = 237]
1. 5ml per kg of normal saline

TSR eTavl @ fepetisget ufer 5 Breft. [Option ID = 945]
2. 10 ml per kg of normal saline

JreRT oIaul @ fpetioger gfer 10 frelt [Option ID = 946]
3. 15ml per kg of normal saline

TSI vl @ fepetioger gfer 15 freft. [Option ID = 947]
4. 20 ml per kg of normal saline

WG cravt @ fpeieper 20 fircht [Option ID = 948]

Correct Answer :-
e 10 ml per kg of normal saline
3o efdqul @ fbetioger yfer 10 Brelt [Option ID = 946]

31) The diagnostic techniques used to detect congenital anomalies in utero is
Sloatsild faisIieRIl &I udn celal @ forg Surllst &I Sirel et SigIiold ddolld 3
[Question ID = 238]
1. Alpha fetoprotein
3rewt fisdigqidtar [Option ID = 949]
2. Amniocentesis
Ieadere [Option ID = 950]
3. Chorionic villi sampling
PIfFRAoIE 32 yfererret [Option 1D = 951]
4. All of these
I st [Option ID = 952]

Correct Answer :-

e All of these
2 a8t [Option ID = 952]

32) The minimum interval between two doses of TT vaccine given to antenatal mother should be
gra gd AT 1 € Stol areft & A B 31 g D dia RYpia siazie 3o aifde
[Question ID = 239]
1.1 month
1 sidle [Option ID = 953]
2. 2 months
2 a1 [Option ID = 954]
3. 3 months
3 adtar [Option ID = 955]
4. 4 months
4 gidtar [Option ID = 956]

Correct Answer :-
e 1 month
1 axdtorr [Option ID = 953]
33) Babies who are at high risk of developing retinopathy of prematurity are
T Sl IERYdar & ecitiefl @ frprr d Ta Rau A 3, A B
[Question ID = 240]
. Preterm neonates
aufduaa erqsirT [Option ID = 957]
2. Term neonates
ufduaa sraste [Option ID = 958]
3. Post term neonates

1
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aptfazen @ a1 &t srafi arel sraetr [Option 1D = 959]
4. All of these
3 J1eft [Option ID = 960]

Correct Answer :-

® Preterm neonates
aufduaa efasird [Option ID = 957]

34) Vitamin A supplement is given under reproductive and child health programme for children upto the age of
fo1Fo1 3IRY aId @ il B o1y Yulotol 3iIR drcT Ia1zed DRIGH D dsad faeifior © & s & sl 3
[Question ID = 241]
1. 1year
1 ad [Option ID = 961]
2. 3years
3 ad [Option ID = 962]
3. 5years
5 ad [Option ID = 963]
4. 5years
5 ad [Option ID = 964]

Correct Answer :-
e 5years
5 ad [Option ID = 963]

35) Measles mumps rubella vaccine has to be given
T3 BUSIHICI Tl BT EIBI oIl SIS
[Question ID = 242]
. After birth
Ston @ arg [Option ID = 965]

2. After 3 months

3 sidlel @ @i [Option ID = 966]
3. After 6 months

6 #rdtol @ arg [Option ID = 967]
4, After 9 months

9 widior @ ar [Option ID = 968]

1

Correct Answer :-

e After 9 months
9 widlar @ arg [Option ID = 968]

36) At the health care facility, health workers can adequately protect vaccines by all the following measures except
FAReA SFIeT Jfden 3, Farel wricdal Soifciad el Suril A Eepl B Il e o2 Iba 3, Barr
[Question ID = 243]
1. Keep vaccines in appropriate vaccine refrigeration equipments
3feret Jarfior gefist uaseuit 3t St 22 [Option ID = 969]
2. Use of temperature monitoring device
ameTel foeRIeh Sudmur w1 IuEist [Option 1D = 970]
3. Transport vaccines in a vaccine carrier
<lept arees 3t St @1 uf¥aset @53 [Option ID = 971]
4. Store vaccines in door of refrigerator only
et Aoe @ gt i B ¥ @d [Option ID = 972]

Correct Answer :-

e Store vaccines in door of refrigerator only
el AWsicz B gaw! 3 S R @2 [Option ID = 972]

37) The route of administration of salk polio vaccine is
Alcw Ulferil B & YIRIel @I APi &
[Question ID = 244]
. Oral
a3 [Option ID = 973]
2. Intramuscular
aier:Qoflr [Option ID = 974]
3. Intravenous
aier: f9rrer [Option ID = 975]
4. All of these
& J19ft [Option ID = 976]

1

Correct Answer :-

e Intramuscular
3iet: dofter [Option ID = 974]
38) The vaccine for yellow fever is
i sa= @1 8@ 8
[Question ID = 245]
1. Salk vaccine
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3w ot [Option ID = 977]
2. 17 D vaccine

17 € &1 [Option ID = 978]
3. CCEEV vaccine

JifigEd ' [Option ID = 979]
4. PreP vaccine

it dor [Option ID = 980]

Correct Answer :-

e 17 D vaccine
17 <t &1 [Option ID = 978]

39) The following Vaccination is included in national Immunization programme
foraferRaa dipramvt Il ST BrRiag # onfdre 3-
Question ID = 246]
1. Vitamin A
frerfir © [Option ID = 981]
2. Vitamin B complex
i ot e [Option ID = 982]
3. Vitamin D
fretfiror € [Option ID = 983]
4. None of these
o0t 31 1 sft ot [Option ID = 984]

Correct Answer :-

e Vitamin A
frerfiror @ [Option ID = 981]

40) The Target groups of Weekly Iron Folic acid Supplementation (WIFS) are
dlpedl 3IRReI Biferd UlRTs Accildieorst (Secyansuwesn) o> ogd AHE &
[Question ID = 247]
1. School going adolescent girls and boys in 6th to 10th class
6t 31 10T s 3 Faet STl arel fpellz ersfisai iz ersa [Option ID = 985]
2. School going adolescent girls and boys in 10th to 12th class
104t 3 124t aem 3t Fapet Swot aret fopoi ersfipan sz s [Option ID = 986]
3. School going adolescent girls and boys in 8th to 12th class
8t A 12 am 3 IOt STl arel el ersfisai i ersa [Option ID = 987]
4. School going adolescent girls and boys in 6th to 12th class
6t 3 124 en 3 I9¢T STl ardl fipel ersfsa iz ersa [Option ID = 988]

Correct Answer :-

e School going adolescent girls and boys in 6th to 12th class
6t 31 124t g 3 TaxcT St ardt faveiz crsfdsa 3 crsd> [Option ID = 988]

41) The components of adolescent health programme are all except
fRpollz Farrea wriqga o frafilRada oI siso: Wil T#es 3:
[Question ID = 248]
1. Weekly iron and folic acid supplementation
AP 3Rl iz Wifers vi¥rs sigpyur [Option ID = 989]
2. Adolescent reproductive and sexual health programme
b9tz ygtoter 3iiz Aller Farzexr wriqgr [Option ID = 990]
3. Menstrual hygiene scheme
afdre ent Facear sten [Option ID = 991]
4. Vitamin A supplementation programme
fre1fior & gea wripa [Option ID = 992]

Correct Answer :-

e Vitamin A supplementation programme
1ot w geas wrfae [Option ID = 992]

42) What is the first sign of puberty in females?
AfZena3il 3 Alger oI usell Jdd o= 87
[Question ID = 249]
1. Voice changes
ararst 3 agetra [Option D = 993]
2. Axillary hair
aigfier arer [Option 1D = 994]
3. Breast development
ot faeprar [Option D = 995]
4. Menarche
Fsiigefer [Option ID = 996]

Correct Answer :-

e Breast development
a1 fera [Option ID = 995]



43) The dosage of Tab. Albendazole administered to prevent helminths instation in adolescents is

fRpoirt 3 wfdr Aet Y Awat B fere & sIrat arclt vedsile eacie & Iga® 3
[Question ID = 250]
1. 200 mg
200 fircfisgar [Option ID = 997]
2. 400 mg
400 Fircltegar [Option ID = 998]
3. 500 mg
500 fircfisger [Option 1D = 999]
4. 600 mg

600 fircfieger [Option ID = 1000]

Correct Answer :-

e 400 mg
400 fircfser [Option ID = 998]
44) Menstrual Hygiene Scheme (MHS) was implemented for adolescent girls in the age group of
MRD e FaeTdr Abstoll (TATaE) {0531 3IRY oot Bl fponival @ ferg cisy &l o1$ ofi?
[Question ID = 251]
1. 10- 22 years
10- 22 ad [Option ID = 1001]
2. 10- 19 years
10- 19 adf [Option ID = 1002]
3. 16- 19 years
16- 19 adf [Option ID = 1003]
4. 15-19 years
15-19 ad [Option ID = 1004]

Correct Answer :-

e 10- 19 years
10- 19 ad [Option ID = 1002]

45) Bacteriologically confirmed or clinically diagnosed case of tuberculosis involving pleura, lymph nodes, abdomen and

genito urinary tract is called
Faditern &t gfte a1 ulpugea, oRile! )i, 162 3iiT STeloRIgieT TSl 3t Al Siciferd U 3 forgel iRl 318 AN @I folgol wal I 3
[Question ID = 252]
1. Pulmonary tuberculosis

uealeRt grrer [Option ID = 1005]
2. Extra pulmonary tuberculosis

Jifeif¥ep ueaierd grR¥er [Option ID = 1006]
3. HIV positive tuberculosis

waamdt difsifea grrer [Option ID = 1007]
4. HIV negative tuberculosis

wasmdt aeifea grrter [Option ID = 1008]

Correct Answer :-

e Extra pulmonary tuberculosis
3ifeif¥ep uealorst Rt [Option ID = 1006]

46) All of the following infections are transmitted by fecal oral route except
foratterRaa sl iaarur o1t JiRa® ot grI Yfta a8, Rar
[Question ID = 253]
1. Hepatitis A
Blerfe ¢ [Option ID = 1009]
2. Hepatitis B
ekt [Option ID = 1010]
3. Diarrhoea
g [Option ID = 1011]
4. Poliomyelitis
afereRIRIERT [Option ID = 1012]

Correct Answer :-
e Hepatitis B
Blersfear €t [Option ID = 1010]
47) The illness caused by mosquito bite are all of the following except
oY D PIcal A glol arell foroifeiRaa el flomd 3, RBrarr
[Question ID = 254]
1. Lymphatic filariasis
erfier fsenf¥=BnT [Option ID = 1013]

2. Malaria

Jrcifen [Option ID = 1014]
3. Dengue

Soft [Option ID = 1015]
4. SARS

3wt [Option ID = 1016]

Page - 10



Correct Answer :-

o SARS
amf [Option ID = 1016]

48) Chikungunya virus is transmitted to people through

Rreporyforan arra ciisil 3 berar 3
[Question ID = 255]
1. Pigs

332 [Option ID = 1017]
2. Mosquito bites

ez @ @ier gan [Option ID = 1018]
3. Chicken

Rraser [Option ID = 1019]
4. Birds

afgril [Option ID = 1020]

Correct Answer :-

® Mosquito bites
aree @T @rer garr [Option ID = 1018]

49) A hepatitis D infection occurs only when the person is positive for
Uersiea St dAapgor aelt 8l 3 s cafks @ foru difSifea at
[Question ID = 256]
. Hepatitis A
esfear v [Option ID = 1021]
2. Hepatitis B
RewRar t [Option ID = 1022]
3. Hepatitis C
3ersRar 2 [Option ID = 1023]
4. Hepatitis E
AewRar € [Option ID = 1024]

1

Correct Answer :-
e Hepatitis B

et dt [Option ID = 1022]
50) The infectious disease caused by variola virus is
ANRIIC IR @ BRUI &lol drell BB AT &
[Question ID = 257]
1. Chicken pox

@It s [Option ID = 1025]

2. Small pox

aaa [Option ID = 1026]
3. Measles

zrr [Option ID = 1027]
4. Rubella

e [Option ID = 1028]

Correct Answer :-

e Small pox
I [Option ID = 1026]

51) The mode of transmission of chicken pox is
BIE ATD D AT DI ANDI &
Question ID = 258]

1. Droplet nuclei

gféw anfdras [Option D = 1029]
2. Infected blood

I B [Option ID = 1030]
3. Mosquito

ez [Option ID = 1031]
4. Rodents

aaa [Option ID = 1032]

Correct Answer :-

e Droplet nuclei
gfe® aufdrs [Option ID = 1029]
52) All of the following are different forms of diphtheria except
forraiferRaa 3t 31 st Reefifyn & fAifdeor 3u 3, R
[Question ID = 259]
1. Nasal diphtheria
sirf feefifen [Option ID = 1033]
2. Laryngo tracheal diphtheria
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cidfent fdparet f3vefifyem [Option ID = 1034]
3. Cutaneous diphtheria

el f3vefifyenm [Option ID = 1035]
4. Systemic diphtheria

yurchior fSeefif¥em [Option ID = 1036]

Correct Answer :-
e Systemic diphtheria
yureilort fBrefif¥en [Option ID = 1036]
53) The most effective drug used to treat carriers of diphtheria is
fEcefifen & aredl & IuaR o ot SRIET i Silo! arell IJaR! YuIrdt gar
[Question ID = 260]
1. Azithromycin
efstefemsitet [Option ID = 1037]
2. Erythromycin
efemziier [Option ID = 1038]
3. Doxycycline
Simftmsfyer [Option ID = 1039]
4. Tetracycline

eerassfierer [Option 1D = 1040]

Correct Answer :-
e Erythromycin
sfeemsfior [Option 1D = 1038]

54) Pertusis is also known as
ORI @I 331 W4 3 9l SiTelr St 3-
[Question ID = 261]
1. Enteric Fever

3iidl @1 g [Option ID = 1041]
2. Whooping cough

wrelt iz [Option ID = 1042]
3. German measles

Spfet w21 [Option ID = 1043]
4. Rubella

em [Option ID = 1044]

Correct Answer :-
e Whooping cough
orclt 2aift [Option ID = 1042]

55) Which of the following disease condition is a major cause of mitral insufficiency and stenosis
RrFaiferi¥aa 3 1 wiot 2l o1 RFfer Ae SNRITHAT iR ICAIRRA O b Y DRUI &
[Question ID = 262]
1. Diarrhoea
¥ [Option ID = 1045]
2. Rheumatic fever
arerd gz [Option ID = 1046]
3. Typhoid
erswiss [Option ID = 1047]
4. Malaria
s [Option ID = 1048]

Correct Answer :-
e Rheumatic fever
arReERd gR [Option ID = 1046]
56) When the causes of hypertension are unknown it is called
SId 3T JWHAIU & DBRUI 3ISII Bl 3 dl $A sl SIT &
[Question ID = 263]
1. Primary hypertension
qrefiras Ia Tapam [Option ID = 1049]
2. Secondary hypertension
ImeIfdres Iea Fepema [Option ID = 1050]
3. lIsolated systolic hypertension
geras Bt 3ea Favam [Option D = 1051]
4. All of these
2 J1sft [Option ID = 1052]

Correct Answer :-

e Primary hypertension
yreifdres 3Ta spama [Option ID = 1049]

57) The life style that has a greater risk of developing coronary heart disease is
Sliger 9icht R &5 - ermell Ast fAwla der @I siftres Sifad 3, a6 &
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[Question ID = 264]
1. Active lifestyle

JAfdr Sfiger dieft [Option ID = 1053]
2. Sedentary life style

amat Sfider dieft [Option ID = 1054]
3. Active exercises

3 =mremt [Option ID = 1055]
4. None of these

ot A DI oft o1dt [Option ID = 1056]

Correct Answer :-

e Sedentary life style
smter Sftaet dicft [Option ID = 1054]

58) The regular monitoring of blood pressure is under which level of prevention?
Foparg i forifdra forRIeh Awemer & Rpa Taz o siaeia 8?7
[Question ID = 265]
1. Primordial
iR [Option ID = 1057]
2. Primary
o [Option ID = 1058]
3. Secondary
amefdres [Option ID = 1059]
4. Tertiary
qcfleras [Option ID = 1060]

Correct Answer :-

® Secondary
aneafiras [Option ID = 1059]

59) Which is the following is not a risk factor for development of diabetes mellitus?
foraifeRaa 3 A wla AeEe Aftea & RAorT & e SRGA BR® & 37
[Question ID = 266]
1. Sedentary lifestyle
et Sitaar dicft [Option 1D = 1061]
2. Protein energy malnutrition in infancy
Storararzen 3 Yictor Sstf agdtaur [Option ID = 1062]
3. Excessive intake of alcohol
9RId @I 3rcafér Aael [Option ID = 1063]
4. High intake of Vitamin -A
firerféror-u 1 siférs Aaet [Option ID = 1064]

Correct Answer :-

e High intake of Vitamin -A
Rrerfdret-u @1 siférs 3aet [Option ID = 1064]

60) National Programme, NPCDCS includes
ISERI BRIGH, TordiRiEiivar i onfre &
[Question ID = 267]
1. Cancer, Hepatitis, Cardiovascular & Diabetes
e, B, w6 3l e [Option 1D = 1065]
2. Cancer, Diabetes, Cardiovascular & strokes
M2, EPE, ga 3z ¥ [Option ID = 1066]
3. Cancer, Leprosy, Diabetes & Tuberculosis
DR, GEo, MYIE 312 grr Aer [Option ID = 1067]
4. None of these
sout 3 1S oft ot [Option ID = 1068]

Correct Answer :-
e Cancer, Diabetes, Cardiovascular & strokes
DI, MPIE, &d 3R Q@ [Option ID = 1066]
61) Which of the following is a major cause of type 2 diabetes?
forgat 3 31 Plel TBU 2 ALPFIT DI TPH YIRA BRUI 37
[Question ID = 268]
1. Too little sugar in the diet, lowering blood sugar
3IBR 31 a5 o diefl, 7B 9B Bt B wen [Option ID = 1069]
2. Obesity
Fierar [Option ID = 1070]
3. Too vigorous exercise, causing a reduction in carbohydrate in the body
T SAeT RIRE, SRR 98k 3 wrlerse &t @l a siedt 3 [Option ID = 1071]
4. None of these
gort A @ oft ot [Option ID = 1072]

Correct Answer :-
e Obesity
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aierar [Option ID = 1070]
62) Oral hypoglycemic agents may be used to treat patients with
ABRI & ITAR 2 ARaD SEUPCISATND Tsidl oI IURABT AT St ADdar 3
[Question ID = 269]

1. Ketosis

@IRrT [Option ID = 1073]
2. Obesity

Fierar [Option ID = 1074]
3. Dengue

Saft [Option ID = 1075]
4. Type 2 diabetes
crEu 2 @i [Option ID = 1076]

Correct Answer :-
e Type 2 diabetes
ersu 2 wgdis [Option ID = 1076]
63) The diseases covered by the National vector borne disease control programme are all of the following except
ICERT Aare SAfored AT FORIGUT BRIMH D siceia 3ot arcil dienfxif forgoifciRad st 3, Rrar::
[Question ID = 270]
1. Tuberculosis
&/ 31 [Option ID = 1077]
2. Malaria
Frafr [Option ID = 1078]
3. Filariasis
gt [Option ID = 1079]
4. Kala azar
@Iel 3R [Option ID = 1080]

Correct Answer :-

e Tuberculosis
g 3ot [Option ID = 1077]
64) The major initiatives taken under the national leprosy eradication programme is
ISERT B3 IodIcTol BRIGH @ dad Bl 9 YIRa usel &
[Question ID = 271]
1. Dressing materials, supportive medicines are given to leprosy affected persons
[B PIice =afepedl Bl SRI ALRL, IeRP Gar &t ardt & [Option ID = 1081]
2. Micro -cellular rubber footwear is provided to protect insensitive feet
JRidcetofier 031 I Jesn D Rw ARQ-AgeR 3@ D I Yerel fbe St 3 [Option ID = 1082]
3. Rs. 5000 is provided for persons undergoing reconstructive surgery
geifolatiur Ikt el arer wftpl & fe 5000 Fue gemer b s @ [Option ID = 1083]
4. All of these
I st [Option ID = 1084]

Correct Answer :-

e All of these
2 Jsft [Option ID = 1084]

65) The programme that aimed to train health personnel in basic newborn care and resuscitation is
Qs DRIgH RRIGT g gorRIEl oldsid SErel iz Yorsiidol 3 Farea wRRI @) gidféa o 3, as 3
[Question ID = 272]
1. Rashtriya Bal Swasthya Karyakram
IECRT aret Fared driagr [Option ID = 1085]
2. Navijat Shishu Suraksha Kaaryakram
oIdsi f919] R8I Dridg [Option ID = 1086]
3. IMNCI
amseaesritang [Option ID = 1087]
4. Home based new born care
T 3renf¥ orasie gxaemel [Option [D = 1088]

Correct Answer :-

e Navjat Shishu Suraksha Kaaryakram
sraste forg) IRem wrfagr [Option ID = 1086]

66) What is the proposed timeline for registration of mothers according to the micro birth plan of Janani Suraksha Yojana
(Jsy) ?
SToToll & AISToll (SIArE) @l g3 STod AlSToll D efHIR ALl @ Usliasvr & fere gaaifaa err e @=n 8?7
[Question ID = 273]
1. Atleast 14-18 weeks before the expected date of delivery
gRra &t 33w ferfér 3 asar 3 asar 14-18 g uscr [Option ID = 1089]
2. Atleast 20-24 weeks before the expected date of delivery.
gRra & g fifer 3 awor 3t @t 20-24 s usar [Option ID = 1090]
3. Atleast 12- 16 weeks before the expected date of delivery
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fcfiast Bt fenfir ferfer 3 ae1 3 et 12- 16 B sar [Option ID = 1091]
4. Atleast 8 to 12 weeks before the expected date of delivery
YR B gt fifdr 3 a1 3t et 8 A 12 s usel [Option ID = 1092]

Correct Answer :-

o Atleast 20-24 weeks before the expected date of delivery.
QT <Y arifreT fifer 3t ot 3t et 20-24 Iwis user [Option ID = 1090]

67) Which of the following can volunteer themselves under the Vande Mataram Scheme for providing safe motherhood
services?
forFarferi3aea 3 31 wlol JRMAA HArefed AdId YeTol ol B 1T € ANTRA AlSToll @ T8 FARIAI DI ADI 37
[Question ID = 274]
. ANM
wworeat [Option ID = 1093]
2. ASHA
amen [Option ID = 1094]
3. Community health nurse
ARG Farzea ot [Option ID = 1095]
4. Obstetric and Gynaecologist Specialist Doctor
QI wd 2t 31 Rdtust Sz [Option ID = 1096]

1

Correct Answer :-

e Obstetric and Gynaecologist Specialist Doctor
gjfer ud ¥t A1 fdrast Saez [Option ID = 1096]

68) The National Adolescent Health Programme was launched in the year of
AR fopolle Fareed BRiay b adf 9 fos=n s ar?
[Question ID = 275]
. 2014
2014 [Option ID = 1097]
2. 2008
2008 [Option ID = 1098]
3. 2012
2012 [Option ID = 1099]
4, 2010
2010 [Option ID = 1100]

1

Correct Answer :-
e 2014
2014 [Option ID = 1097]

69) Rashtriya Kishore Swaasthya Karyakram (RKSK) has following six priority areas except
ASERI fp9Nz Fared BRIGH (RDTAD) 3 foraftiRad ol Sisd: sl T yrealisdr arc &iq 3.
[Question ID = 276]
1. Improve Nutrition
drqur 3t e [Option ID = 1101]
2. Enable sexual and reproductive health
2t 32 ygloter Farzeer Agwr azell [Option D = 1102]
3. Address conditions for Communicable diseases
Jrardt Asit &t uldBerferit @1 uar asson [Option ID = 1103]
4. Prevent injuries and violence
et 3iiz f&am @51 A [Option D = 1104]

Correct Answer :-

e Address conditions for Communicable diseases
Jfarst 3l bt ufRerferil @1 uar won [Option ID = 1103]
70) Which state is called land of five rivers
fopa1 315w @1 uia sl bl yfdt et S @
[Question ID = 277]
1. Gujarat
g [Option ID = 1105]
2. Tamilnadu
affrereng [Option ID = 1106]
3. Punjab
g [Option ID = 1107]
4. Kerala
@1 [Option ID = 1108]

Correct Answer :-
e Punjab
tsma [Option ID = 1107]
71) World health day is celebrated on
fRra Farred f&azt AR ST &
[Question ID = 278]

Page - 15



1. March7
7 @it [Option ID = 1109]

2. April7

7 3ier [Option ID = 1110]
3. April 10

10 aier [Option ID = 1111]
4. April 14

14 3t [Option ID = 1112]

Correct Answer :-
e April 7
7 aijer [Option ID = 1110]
72) The state in which the famous Ajanta caves are situated in
gf31g srsiar &I opwe fova asw 3 Rera 37
[Question ID = 279]
1. Madhya Pradesh
are=r ygor [Option ID = 1113]
2. Maharashtra
R, [Option ID = 1114]
3. Gujarat
g [Option ID = 1115]
4. Kerala
@t [Option ID = 1116]

Correct Answer :-
e Maharashtra
g [Option ID = 1114]

73) Which is the most popular classical dance form of Andhra Pradesh?
3Hig] YSoI I A clIbIYA e[l ofet dblol AT 37
[Question ID = 280]
1. Bharathanatiyam
srronfezre [Option ID = 1117]
2. Kathak
@ [Option ID = 1118]
3. Kuchipudi
@Rt [Option ID = 1119]
4. Mohiniyattam
Afefisrza [Option ID = 1120]

Correct Answer :-
e Kuchipudi
wfrggt [Option ID = 1119]
74) A postpartum woman should be instructed to perform Kegel exercise for which of the following purpose
oo (RIARR Afden B PrafiiRad 3 3 b 339 o o1y B3l RIRIPT w2t ot fBrsor 3 siren aifde
[Question ID = 281]
1. To promote uterine involution
STTioRI D AR Bl IS Sof B fewe [Option ID = 1121]
2. To prevent urinary tract infection
eI Tel ATl Dl Aol D few [Option ID = 1122]
3. To strengthen pelvic ligaments
{feaed Folgeitrel I ASIgd Dol d fere [Option 1D = 1123]
4. To strengthen the pelvic floor muscles
e Teiie Bt ARRISRE B g D2 B Re [Option ID = 1124]

Correct Answer :-

e To strengthen the pelvic floor muscles
e aehz Bt iR @ IrigeT wee & e [Option ID = 1124]
75) A primigravida mother delivered a male baby. The newborn has visible secretions after birth. The nurse has to suction
the newborn in which of the following method
s IMNfSHSIGT HIAI ol oR &< Bl Siod RN Sl @ €IS olaeld A A s Sard orRi ol orasiid 1219] @1 Ja9erel foet 3 3 v fafdr A won
e 3?7
[Question ID = 282]
1. Nose first followed by mouth
U&el oI 3R {52 3 [Option D = 1125]
2. Mouth first followed by nose
uEcl 35 3IR fib2 s [Option D = 1126]
3. Mouth only
et 35 [Option ID = 1127]
4. Nose only
@act s [Option ID = 1128]

Correct Answer :-
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e Mouth first followed by nose
uael 36 3iR fib2 s [Option D = 1126]

76) To perform nasopharyngeal airway suctioning for a conscious patient with a functional gag, the nurse should place the
patients head in which of the following positions
Udb BRICHD 10T D ATl AU il B AU aIRiifbiosRIer WRRd JAa9Ifoisr @l @ g, i &I sl @& RR @I forafalaa 3 A1 fiea Rerfa
IITCIl AT
[Question ID = 283]
1. Chin flexed to chest
gt et B adw geBt g€ [Option ID = 1129]
2. Face towards right shoulder
GIfEa B Bt sl Az [Option ID = 1130]
3. Face towards left shoulder
amg B i s Az [Option ID = 1131]
4. Neck hyperextended
ardal ol aiftrpfarur [Option ID = 1132]

Correct Answer :-

e Neck hyperextended
arcel @I aiftrpfzarur [Option ID = 1132]

77) While administering enema patient should be placed in
ol Sel IERI A3 bY f53T Ferrel uR 3xen wfde?
[Question ID = 284]
1. Sims position
Rt Bafer [Option ID = 1133]
2. Supine position
frer Beifér [Option ID = 1134]
3. Mid Fowlers position
e pRert Refer [Option ID = 1135]
4. Knee chest position
Sty agtet [Option 1D = 1136]

Correct Answer :-
e Sims position
Rt Befer [Option ID = 1133]

78) Facility based counselling centres provide health education to adolescents on all of the following areas except
Afen smenfya gzt ag rorfeiRae it il 3 eI @I Fare:n Pd1en yeror @ 3, Rrara
[Question ID = 285]
. Nutrition
diur [Option ID = 1137]
2. Puberty
wilaer [Option ID = 1138]
3. Prevention of STD
et Bt Jwemr [Option ID = 1139]
4. Early marriage and child bearing
oftey Rrarg aiiz 2icmeitcufe [Option ID = 1140]

1

Correct Answer :-

e Early marriage and child bearing
oftey Rrarg afie 2iemeticuter [Option 1D = 1140]
79) A nurse working with adolescents in juvenile home discusses the developmental task appropriate for adolescents with
the care taker. An example of a primary developmental task of an adolescent is
fopoilz 315 3 RP9IRI & UTeI B ol dicll TP ol STIeT Bl arel B AT [p9IRI & e SWRIP fpricas BRI us aaf odl v ek &
el fAGRIcs orRf oI U 3cEur 3
[Question ID = 286]
1. Working hard to succeed in studies
UGE 31 AwerT @ e Ager wen [Option ID = 1141]
2. Accepting decision of authorities
JIfexepIfsIl @ forfer w1 Rt w2 [Option ID = 1142]
3. Developing athletic activities and skills
verclfeas siferfafiri siie wioret @t fawrr [Option ID = 1143]
4. Spending time developing relationship with peers
RN @ el 2der Rl o @ e 6rr =rila wen [Option ID = 1144]

Correct Answer :-
e Spending time developing relationship with peers
IRRI D I Jder Rl wal & e R =aedla won [Option ID = 1144]

80) Which position is demonstrating here?
18l bial 3t Rrerfer ygfofa ar 3&t 37
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3 A SN

[Question ID = 287]
1. Recovery position
frpast ferfer
[Option ID = 1145]
2. Sims lateral position
Rt dreer Rerfer
[Option ID = 1146]
3. Dorsal recumbent position
Ipfer Bagrie Bafer
[Option ID = 1147]
4. Knee chest position
geol-oril &f Befer

[Option ID = 1148]

Correct Answer :-

e Recovery position
Rt Berfer

[Option ID = 1145]

81) Identify this instrument?

A IUDBIVT Pl UEIol?
=
)
PN ==
Dl &‘\
(/(,A
' )1
\V_/'

[Question ID = 288]
1. Artery forceps
aToll BRITA

[Option ID = 1149]
2. Allis forceps
ofRRT BRIAWT

[Option ID = 1150]
3. Green armitage
affor amfafest

[Option ID = 1151]
4. Babcock forceps
qqid PRATT

[Option 1D = 1152]
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Correct Answer :-

e Babcock forceps
DD BRI
[Option ID = 1152]

82) Identify this instruments?

3 IUDBII DI Usdloel?
B e
;y ‘_{A:_ B ER o
| :‘ ‘ “3‘
-l mEyy L J
) '«1"":] ﬂ—i—”\': 'T 3
o N"bv

[Question ID = 289]
1. Dialysis machine
SRIRIRRI arefict

[Option ID = 1153]

2. Mechanical ventilator
<Iifee dfeeres
[Option ID = 1154]

3. Portable ventilator
qidget dferes
[Option ID = 1155]

4. Infant incubator

fO19] SoTRAT
[Option ID = 1156]

Correct Answer :-
e Infant incubator
1919] SoraRIAeT
[Option ID = 1156]
83) Which one is more appropriate in preventing Acute Diarrhoeal Disease?
sifiz sifelRIERI 5T bl Ahol I Dlol AT IfUD IUITD &7

| ;"'_j—_ — =7
I l*‘ '[-“( °
! i [
| 0T - . 3
_,‘.1.“—“5"‘“7 v,,]| J
—_— {

' AT 2T
o 3
;m, ‘\’-hi}_

ey . "~
= e AW TR
e — ‘
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[Question ID = 290]
1. Maintaining good personal hygiene
I RIRPOTA IATHAI TollE IFToT

[Option ID = 1157]
2. Maintaining good food hygiene
IEBt W FATHAT TGIT TGN

[Option ID = 1158]
3. Maintaining good environmental hygiene
ISt IR RIceT Tole IFTGI

[Option ID = 1159]
4. All of these
I Jreft

[Option ID = 1160]

Correct Answer :-

o All of these
I Jsft

[Option ID = 1160]
84) What is the characteristic feature of Vitamin-A deficiency?
fAre1i3ret-u &I @att i faghudr a=m 87
[Question ID = 291]
. Bitot’s spot
Ride zdfe [Option ID = 1161]
2. Koplik’s spot
Wifteras wite [Option ID = 1162]
3. Café-au-lait spot
@t-alt-eme wte [Option ID = 1163]
4. Target spot disease
eReYe e Jer [Option ID = 1164]

1

Correct Answer :-
e Bitot’s spot
e e [Option ID = 1161]
85) Foams, creams and jellies are which method of contraception
B, B 3R Sicll spiforiers &t @la 2t fafer 8
[Question ID = 292]
1. Physical method
omdif¥a@ fafér [Option ID = 1165]
2. Natural method
grpfers fafer [Option D = 1166]
3. Chemical method
IRIEIfers fafér [Option ID = 1167]
4. Intrauterine devices
icforiorft f¥arsar [Option ID = 1168]

Correct Answer :-
e Chemical method

IRIRIfKE fafér [Option ID = 1167]
86) The objectives of family planning are all of the following except
ufyar forilstar & 3Zeu forrafciRaa wsht 3, Rarx
[Question ID = 293]
1. To bring about wanted births

qifeser STedit I oot @ fére [Option ID = 1169]
2. To regulate the number of children in the family

uf¥are 3 acat Bt iz B ARG @t S e [Option 1D = 1170]
3. To minimize the interval between pregnancies

spsfermzur @ dfta sicrRIcT B @t w2t B e [Option ID = 1171]
4. To avoid unwanted births

3 sloddt 3 aae @ B [Option ID = 1172]

Correct Answer :-

e To minimize the interval between pregnancies
arsfeRur & efiTT SicRICT D B e D o [Option ID = 1171]

87) Which of the following is a terminal method of contraception
forrafal3aa i 3 otar sniforiers 6 gas chiforer fafer 2

[Question ID = 294]

1. Birth vaccine
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Stedt @1 ¢tr [Option ID = 1173]
2. Vasectomy

a3re [Option ID = 1174]
3. Subdermal implants

Jrasdter grariaor [Option ID = 1175]
4. Combined pills

3igep shfert [Option ID = 1176]

Correct Answer :-

® Vasectomy
adacidt [Option ID = 1174]

88) Preventive methods to help women avoid unwanted pregnancies is called
aifEenaii o1 s@ifisa smfenzur I o 3 IGs B D ferw forare 3urt B forgor et S
Question ID = 295]
1. Family planning
uf¥ar Britster [Option ID = 1177]
2. Contraceptive methods
anfforierd @i [Option ID = 1178]
3. Small family norm
8Iel uRarR amecs [Option D = 1179]
4. Couple protection
Ioret 3Ren [Option ID = 1180]

Correct Answer :-

e (Contraceptive methods
ansfférdters adtds [Option ID = 1178]

89) When the diarrhoea lasts for more than 14 days it is called
SId ¥ 14 &3l A 3if2rp IPRI ad Iedr & dl A bad &
[Question ID = 296]
. Dysentery
afrgr [Option ID = 1181]
2. Acute watery diarrhoea
oty ot St g [Option ID = 1182]
3. Persistent diarrhoea
RIFR & [Option ID = 1183]
4. All of these
2 awft [Option ID = 1184]

1

Correct Answer :-

® Persistent diarrhoea
eRIFR g [Option ID = 1183]

90) Which of the following National programs implemented though Department of Parasitic Diseases of NCDC.
forFsifeRaa 3 A1 @il AT ISR PRIGHA ToRISRI @ usiid eIl @ fpieT o R1e o], b sk 3
[Question ID = 297]
1. Guinea Worm Eradication Programme
ol wfdr Ioagctor wriga [Option ID = 1185]
2. National Rabies Control Programme
arscer Yot Briqur wrlagr [Option 1D = 1186]
3. Guinea Worm Eradication Programme and National Rabies Control Programme
reft i Joageror DrfaeT ol Ik it fBriqur wriaen [Option ID = 1187]
4. Program for Prevention and Control of Leptospirosis
ACIPURRRR Bt e sz BRI 3q riagr [Option ID = 1188]

Correct Answer :-

e Guinea Worm Eradication Programme
Broft ot 3eaxcTer wriay [Option ID = 1185]

91) It is the ability to make logical, rational decisions and decide whether a given action is right or wrong.
g difbd, daaierd Bk Aol 3R A a @0l &t grar 3 b 3 sri wrl At § ar sera
[Question ID = 298]
1. Judgment
fwfer [Option ID = 1189]
2. Controling
feriferr [Option ID = 1190]
3. Creativity
aetrearaser [Option [D = 1191]
4. Interpretation
= [Option ID = 1192]

Correct Answer :-

e Judgment
ot [Option ID = 1189]



92) It involves usage of manual communication and body language to convey meaning as opposed to acoustically conveyed

sound patterns.
3l edford WU A AYRIA eafor Ueol o faudie sref oI wIep B o e Aegsrel Ao 3ii? d@ist clodst oI JusileT onfdreT 3

[Question ID = 299]
1. Lip reading

gls ugon [Option ID = 1193]
2. Sign language

Jidfere smar [Option ID = 1194]
3. Human aids

amera agrir [Option ID = 1195]
4. Technological aids

awmofidht @R [Option ID = 1196]

Correct Answer :-
e Sign language
Jifers smar [Option ID = 1194]

93) The unique advantage of organizational communication compared to small group communication is that
BIR WG AR DI Jeloll I HOISHIIHD AR BI 3UGIJI i T 3 b
[Question ID = 300]
1. Feedback is easier and more immediate
gferfm st SR aIfers aerer 8 [Option ID = 1197]
2. Communication roles are more formal
e g1f3rprs 3iftrn sfuenfyd axdt & [Option ID = 1198]
3. Always Informal communication take place .
BN aeliuaie e g 3 [Option ID = 1199]
4. Al of these
a asft [Option ID = 1200]

Correct Answer :-

e Communication roles are more formal
I g siftrn siivanye gxdt 8 [Option ID = 1198]

94) The nurse is aware that an adaptation of pregnancy is increased blood supply to pelvic region that results purplish
discoloration of vaginal mucosa known as
o 51 a1 A sradId & fob sryiazen @ siglaxetor A T iy I 7D Dl MYl ag Sl 3 Rrad> uldviEazsu AMfeT RIBRI o JoTofl o1 @I
aifcreifepzor drar @ Rl @ U 3 SIeI ST &
[Question ID = 301]
1. Ladin’s sign
enf¥r @t i [Option ID = 1201]
2. Hegar's sign
R @1 2D [Option ID = 1202]
3. Goodell's sign
353t 1 3idba [Option ID = 1203]
4. chadwick sign
dsfie 3ida [Option ID = 1204]

Correct Answer :-

e chadwick sign
Asfaas 2idx [Option ID = 1204]

95) SUMAN initiative is covered under which ministry
3ol Usel [ FAIcrRI o5 sicield iredl 8
[Question ID = 302]
1. Ministry of Human Resource Development
JroTa JArelel faeprat sicyerr [Option ID = 1205]
2. Ministry of Women and Child Development
aAfden wd aret famrT sigrerr [Option ID = 1206]
3. Ministry of Health & Family Welfare
Farze 3R ular aer Fgrerr [Option ID = 1207]
4. Ministry of education
forgn sieerr [Option ID = 1208]

Correct Answer :-

e Ministry of Health & Family Welfare
Farzed 3R uf¥ar weamnr sigrerr [Option 1D = 1207]

96) World immunization week is celebrated in the
3 e EpTpIv] AHIE HOIRIT SIel &
[Question ID = 303]
1. Last week of April
31t @ sifeer s [Option D = 1209]
2. Last week of June
SJot o sifewr 2mms [Option ID = 1210]
3. Last week of May
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7 @I sifter mms [Option ID = 1211]
4. None of these
gorr A DX sft o1t [Option ID = 1212]

Correct Answer :-
e Last week of April
ardjet @1 sifear 2mare [Option ID = 1209]
97) Which of the following best explains how cigarettes cause lung cancer?
foafeiRaa 3 2 oot 31 werar Tt 3 6 NeRc BA BB B DA BT BRUT dolcdl 37

[Question ID = 304]
1. Smoking cigarettes transfers viruses that cause cancers
Rpre dier 3 DR Uor ol aret arRA w2 36 3 [Option D = 1213]
2. Cigarettes contains nicotine
Beive 3 Broifeer dler 3 [Option ID = 1214]
3. Cigarette smoke contains chemical carcinogens
RpRe @ yu 3 Rmfrs dilfene a6 8 [Option ID = 1215]
4. None of these
ot A o1 ¢t ordl [Option ID = 1216]

Correct Answer :-
e (igarette smoke contains chemical carcinogens
ReRe & yu 3 IR wiifeissar axt 2 [Option ID = 1215]

98) In a communication process, noise belongs to which type of barriers of communication
IR Yo #, oI IR @ 53T YR @ srariell I Jdfena 3
[Question ID = 305]
1. Physical
RbRwer [Option ID = 1217]
2. Physiological
fpfriecifSme [Option ID = 1218]
3. Psychological
AR [Option ID = 1219]
4. None of these
st A o1$ otdl [Option ID = 1220]

Correct Answer :-

e Physical
fbf3reser [Option ID = 1217]

99) The response received to a senders message is called as

QU @ A UT YA YR ol el Sl 3:
[Question ID = 306]
1. Answer
Faz [Option ID = 1221]
2. Feedback
yfegfee [Option 1D = 1222]
3. Food bank
e 3@ [Option ID = 1223]
4. Encoding
woepif$er [Option ID = 1224]

Correct Answer :-
e Feedback
gfergite [Option ID = 1222]

100) FP- LMIS stands for

UBUl- TCICHSIZEA BT HeAcd 8

[Question ID = 307]

1. Family Planning Logistics Management Information System
uf¥ar frilster 2216 ydtrer Jaen yomelt [Option ID = 1225]

2. Family Planner Logistics Management Information System
uf¥ar Brilsras 3216 yderer o yonelt [Option ID = 1226]

3. Family Planning Logistics Management Information Services
uf¥ar foRilsTel 22 ygerel e Jare [Option ID = 1227]

4. None of these
ol A ¥ o1df [Option ID = 1228]

Correct Answer :-
e Family Planning Logistics Management Information System
uf¥ar Brilsel X6 YEerel et yoret [Option ID = 1225]
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